Bekmopsbl 8
kKoopoduHamax. [lpumepsi.




1. 3anuwume KoopOUHambI 8eKMopa
(koaghpuyueHmMbI pa3sioXKeHuUs1 No eekmopam |, J, K)

a=3i +8j —4k a—(3'8'—4)
b=-5j-2k (o -5;-2)




2. Pa3znoxume eaeKkmop no
KOOpOUHamMHbLIM eekmopam i,j,k:

a(5-7:4) 5 -T7j+4k

b (8;-2;0) 8i —2j
c(0;4;-3) 45 -3k

d(O;l;O) j
p(0;0;-5) —Sk




3. BbinosiHume onepayuu Hao
eeKkmopamu

=(4,3,-2) b =(-9;12;6) € =30 +5) +4k
a+b  (4+(-9%3+12-2+6)=(-5154)
a=b  (4-(-9):3-12;-2-6)(13;-9;-8)

a+c (7:8;2)
2¢c (2-3;2-5;2-4)=(6;10;8)
15 (-3;4;2)




4. JluHeUHas1 KOMbUHayusi eKmMopoe

5:(1;4;—3) b =(8;12;—4) c=2i +3j -5k

3a =(3;12;-9)
5 = (4;6;-2)
2 2 )

_I_




